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Limiting Reactant  
) 
The limiting reactant is entirely __________________ and limits the amount of _______________ generated.

The theoretical yield is_______________________________________________________________________.

The actual yield is___________________________________________________________________________.
Show the equation used to calculate percent yield:

  
Watch video tutorial on Limiting Reactants

Practice Problem:	
		        C6H12    +   4 Br2            C6H8Br4   +  4 HBr
Molar mass =	        84.1           159.8               399.7          80.9  g/mol

Based on the above equation, calculate the theoretical yield and percent yield of C6H8Br4 for an experiment where 15.0 g of C6H12 are reacted with 95.0 g Br2 to give 55.5 g of C6H8Br4.  (Molar masses are given below each compound.)






											ans:  
theoretical yield = 59.4 g
percent yield = 93.4%
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#61, 63, 71
For detailed solutions to these problems, go to the OpenStax website and download the “Student Answer and Solution Guide.”



"Limiting Reactant Study Guide" by Montgomery College is licensed under CC BY 4.0

